H & 0l & AHS B Ml A

20248 =0ila eS| M S 2t
SN SR
S Mo & 2gees 23t
R s e 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
M s 7,217,401 7,198,338 19,063
= 25,455
Albl 190,352
Tl 7,001,594
o & reke)gt 2t 1,068,618 872,687 185,931
= 25,455
Al 36,852
Tl 996,311
HZSa My 2t 664,414 517,200 147,214
et des =29 79,340 34,900 44,440
201 er23 | 52,840 34,900 17,940
01 At2teltl 32,800 14,980 17,820
OMal Hla2SA =S4 2,000,000& 2,000
OMtordatatal o - =XH| ¢
60,0003 4852 29,100
Offtetdatatal HANE
50,000& x122 600
ONfjtetdaad A2F
50,0008 %122 600
ogMgRd =23 0ldEX
500,000 500
02 s3=gHl 20,040 19,920 120
ONftatardln AR Mot
20,0003~ 1CH =122 240
OMteEs SUETEI| ALS
5,0003*12CH* 12 720
OMHEEAIAS(IAZ4) ME
50,0002 x120H* 128 7,200
ONfci2itdzae Stes % dJ|es 4,080
=SS ONELIFSES Su) 100,000& « 12& 1,200
CAEXR M 240,000 * 122 2,880
OXIRIIEE H=I| AIAE |X2= 7,800
JIEAH(LA) B 180,000 »12& 2,160
dEME 23 168,000« 12& 2,016
AN B3 107,000& «12& 1,284
- APIEGE 70,0002 128 840
SHENAYX BE
125,000~ 128 1,500
405 AHAHE S 26,500 0 26,500
01 AL =S F=H 26,500 0 26,500
OMterda e x5 28 25
26,500,000 26,500
K=t ARS Ol 127,614 96,104 31,510
201 fer23| 63,300 34,290 29,010
01 AtR2t2lHI 60,610 31,740 28,870
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SN QHEERDY
S Mo & 2gees 23t
R s e 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
TRt E S 150,000 100,000 50,000
307 elztol & 150,000 100,000 50,000
06 2= 150,000 100,000 50,000
OF2IetNEE It 150,000, 0002 150,000
SlEadl 25 N3 10,000 2,000 8,000
301 EtE2 NS 10,000 2,000 8,000
05 o= A AIE ZH 5,000 2,000 3,000
o2zl 38l X&E 5,000,000 5,000
11 AALRHIXIZS 5,000 0 5,000
O848l J&X Ast 5,000,000& 5,000
HlatAstd &X) 105,000 0 105,000
401 Al HIZL 01| 105,000 105,000
01 Al&H| 105,000 105,000
OSHFHAX S HIgASE &X
105,000,000 105,000
Mol XS HEl(S&2K7 SUIE R FHl) 142,000 0 142,000
403 AXIEHMSA=Z01d 142,000 142,000
02 SISOt =2 A A E A I 142,000 142,000
Ose2h= SUASXNS A
142,000,000& 142,000
UFS 193-118X LY AFZWUXNS SLSAHFE 41,000 0 41,000
01 01l &)
401 Al HIZL 201 41,000 41,000
01 Al&H| 41,000 41,000
OUES 13- & AFSUNY 22
SAHEFRIE 04 41,000,000& 41,000
SHASZ Al otA 2 76,237 76,187 50
SlE28 Ot 22,000 23,000 21,000
307 @120l & 22,000 23,000 21,000
06 28= 22,000 23,000 21,000
OZFoll28 It 22,000
=& O 2,000 *3,50024 7,000
2430 Oty 10,0002 %1,50024 15,000
dHE A= RA2c 3,037 3,037
201 eer23| 3,037 3,037
02 S3=gHl 3,037 3,037
OdHE AlE= FA2c
73,408,000 #3. 76%+110% 3,037
THEFARS &IE 11,200 10,150 1,050
301 2= 11,200 10,150 1,050
14 JIEt2 = 11,200 10,150 1,050
OLIZHE 20t N2+¢ 320,000& 35 11,200
a5 Xtg ZX) 40,000 40,000 0




FA S EL
BB IOl U PIeID|EE s
CH2l: THOHRIE Xl etE 22| EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 40,000 40,000
01 Al&H| 40,000 40,000
Oxt= &Xl 800,000& *507H 2~ 40,000
42029 243 317,967 279,300 38,667
= 25,455
AlH] 36,852
T4l 255,660
o W=29 18,429 18,191 238
= 5,985
Al 3,733
Tl 8,711
201 el 10,409 9,378 1,031
= 3,579
AltI 2,049
Tl 4,781
01 At22t2l] 10,409 9,378 1,031
OFA==g 3,000,000 3,000
= 900
Altl 630
| 1,470
OQIBTE SIS ZSHEAA
652,000 652
= 652
OLLAAUE AOIHL= 6.,757,000& 6,757
= 2,021
AltI 1,419
-l 3,311
301 EetE2 NS 8,020 8,813 AT93
= 2,406
AltI 1,684
-l 3,930
14 DBt 2 a3 8,020 8,813 AT93
Dl e NS NY U ol sS4
8,020,000& 8,020
= 2,406
AlHI 1,684
Tl 3,930
U0 2geed 23| 1,900 1,900 0
= 570
AlH] 399
Tl 931
201 fer23| 1,900 1,900 0
= 570




SN SR
S W & 2gees 23t
CHel: M20I2re 2435} (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 39
Tl 931
01 At2tltl 1,900 1,900 0
ORVIHO pIgslol 2 &
1,900,000 1,900
= 570
Al 39
Tl 931
olgfel ZAt=g XA 14,000 14,200 A200
AlHI 7,000
Tl 7,000
201 eer23y| 14,000 14,200 A200
AltI 7,000
-l 7,000
01 At 2|l 14,000 14,200 A200
O ZAt==E 14,000,000& 14,000
Albl 7,000
Tl 7,000
lete HlagsAlE 2 24,400 18,880 5,520
AlHI 12,200
Tl 12,200
401 AlEHIZ 2018 24,400 18,880 5,520
AltI 12,200
-l 12,200
01 AlZH| 24,400 18,880 5,520
Oblelg=Ald =2d & |FXN2=+
24,400,000& 24,400
Altl 12,200
Tl 12,200
ol Zle 2,000 2,000 0
405 AHAHE S 2,000 2,000
01 AL =S F = 2,000 2,000
Oglge & stld=0 2,000
- QIR 1,000,000 1,000
StEYE=0 Zhl 1,000,000 1,000
AN otde Y=H 25 63,000 54,600 8,400
= 18,900
AlHI 13,230
-l 30,870
405 AtatsE = 63,000 54,600 8,400
= 18,900
AlHI 13,230
Tl 30,870




od
i’
oF
uJ

S e LIS e ol S)
A S| =1kt
O N394 RS
Klo
El
D
S 3818 NS> 218 AR
© SIE=AES] ©C|S|S > | NS
1 ) N RNE RN S|8|8 ol i3]
ar
uiled
RS
S 8883|1888 SIEIRIE 8 388 8 8 ¥ 8 8 © gIgsg8remssIFILseRS
S S odxo|lg|d|e Slolx|o T ® O F F - S & d oo oo d S v o NS & o F
8 8 LLF|N|N|N N =R T - e = BB B @ © N EQ— ®
al
<
S
- -
=<
= = o = 28 85 @ o ow 88 8 & TR TR | T T )
S 8 TP 2?2 ? 8 8 2 2 P S ad oy A d
= ¥ - . == S~ ® 80 ol ol & ol ol o
o > & g ¥ 5 T 8 I § g ey TSR
X0 OF. m g0 = H X B0 ) = OF. K A ol__..|_**8
) S o & 8 s ® ¥ 8 = g8 ® 8 30 B0 5 B g
; ~ S SBwv 8 T ~ 5 S ® W g W W
Al A D 3 ZMM ZMM
- o - - B0 . !
< S < [oo] — - - - - -
o — (3] ~ ™ ~ ™
< ir
o o_T r
— ulo
= _
= _
o ur o
oF RE =4
oy o |t B ) - . .
. ulr | ok o) [N - ) - -
= ok RE | oK 1l S oF KE o o
w0 |2 el Ed ok Ko o0 ok
KV = =g =4 = . ol 3l
. _ o | = - O O o
1




SN SR
B Tl U PISID|E s
Rl A0l 243t EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAZ =823 S4XE & Ml2a2E
0,000 *120& 2,400
Hl&ttibl 9& 25,093 24,433 660
201 er=23y| 25,093 24,433 660
01 AtR2t2|HI 25,093 24,433 660
OHI&tiel s 25,093
-2X AsA=EN WA
30,0003 *30+90% 810
BI&CHBIZA S HM%
25, 00024 %295 +00% 653
ol SN R
45,0002 *302*90f% 1,215
2A HEE 2 20,080
-E2= MH 100,000& x4& 400
-ARES 150,000 25 300
-HYEZHI(SADILZE) |
150,000 *4CH 600
-SAdEe My Y
36,0002 *30H 1,080
=X &2 24
10,0002 902 » (42 x3A1+12 % 14]) 11,700
=X AS2 A 244 2,000,000 2,000
QY=Y S 4,000,000 4,000
-2 g dMEE dAl 2,33
-E2= M 150,000 *45+90% 540
-SHSS(HY, AR S
995,000 9%
-OtLH2A &2 400,000 x2H 800
QIRIAIE - ZH| 22l 27,765 26,661 1,104
Alt] 290
Tl 27,475
201 er23 | 12,765 11,661 1,104
AlH] 290
Tl 12,475
01 At2teltl 2,205 2,445 AN240
O=2BAE WH==SJI 525
o 7002 +200H 140
= 7, 7002 %50H 385
OULAIE SHHEX 2 580,000 580
AlH] 290
Tl 290
OS==AIE HHEXIE HI=
50,0003 *107H 2 500
Osx=AlE =Xl WX 600,000& 600
02 S5=24g4l 10,560 9,216 1,344




od
i’
oF
uJ

e e e o QIZ | DD
S o|N|N |
0 g |§[E|7]
zm <
o
E=)
ISHRS] 21818 ISHES] 8|88 S J|83(3
S| D> > > | > >33 o ol Bl Bl Bt
0 | 10 — (@] LO
e 90 8 mw_,%%%
w2 ~ <3
KIS
18|18 S 818188 8188 S|B|8|8 8 B L B|ISS SIIIE|I=I= S LB ITLLIRBLSH
Yol el Ne) (] [« ool o)l Ne)) DO DIH]|OHZ|OO O NN IO — | O OIJFIIT|IIT | O AN N ™~ 00 OO — N AN M~
S|lels o ~|= %%m%mm& S o N = o o~ =
M < < | ™
<
S
]
< I+
W o [ & s 8 8 0 Gl T o o
| S = ? P PP S N T ¥ T ¥ ]
3 ST i o =55 S 2 oW o W )
o | 2 g @ 5 388 s 8 ¢ §¢ ¢
B g 3 G Ay > 8 X xx 8
HO — [e6] | AT (&) - kw O_.._OE -
m | oz . g g8 Y% =g ©% g8 8
. oma g = s 8 8 C  @wms 53 °
N o - - P X [Tol
D > «® - 8 3 -
= 8 S
I+ o
= e
~ |u 5
= |~ R0
o | R = =< N N
= |l 0 K K
% < | i 5 =) bl =] = = o i
A R i R a ) Y, KO _ 80 [l U
= |0 |23 |0 | 0 K R|E|R T 2 W A o R R
_uo 0 |m|m of = i K0 ok 3J K H 20 BN 7
x% z|= oF 0 F3) = = : : ] Mo : ’
LS I 8 o2 o = W S
X F o] x 0 =
I+ = ol il
N




FA S E
XE: OIFat CAID|BAIE R4
2l JIMAIEE 2l (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
s 6,160 * 10k 123 % 1.1 814
-AFEE 1062 «350kWh+2CH* 122 *1 .1 971
Sz 258
= 5,500 %128 *1.1 73
-AE= 14,000 x 128 *1.1 185
Ok URsusd)| szl 10,342
AR 2 600,000 * 12 7,200
RS WIE= 2,884
ez 6,160 » 15k 123 % 1.1 1,220
-AME= 1053 *600KINh*2CH* 122 %1 .1 1,664
CSE 258
= 5,5002 %1281 .1 73
-ANEE 14,0003 128 %1.1 185
Ottt dd=XdH & 5271 |RAl2c 7,325
ot e |2 400,000 123 4,800
&= 2,478
= 6, 1603 » 10k 123 % 1.1 814
-AME=E 10531 %1, 200kih* 128 %11 1,664
Stz 3,850« 12 47
OAfSH 2AHI0IE 201 |22l 5,264
AR 2 400,000 12& 4,800
= 206
ez 6, 1602 x20kW+1.1 136
-ANE= 10524 +600KiN*1. 1 70
Stz 258
= 5,500 %128 *1.1 73
-AME=E 14,000 128 *1.1 185
401 Al HIZL 01| 160,000 50,000 110,000
01 Al&H| 160,000 50,000 110,000
Ok® sws)| WA
80,000, 0002 +2CH 10K 2 160,000
2otsS 2l 617,916 698,916 /81,000
201 ZBt=Ehl 283,776 283,776 0
02 S3=gHl 283,776 283,776 0
OFots 28 JUE AIS
35,0003 12 *1CH 420
O=ets MIIMNEZ 283,3%
HIZ(LEE . HE)
4,6903 *4,4000* 12& 247,632
- M= (LED) 2,2902%1,3000* 122 35,724
206 M=l 111,567 111,567
01 M= HI 111,567 111,567
O=ots E==Mg 7Y 111,567




2A:

I OHMSH TAIDIBIAIE =4
Celr JIEAIZE=E 22l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
UEs2Z
10,4502 %3,5005*(365& +12A1 2H) /16,000A1 2
10,013
UESHT ors))
15,4002 #3,500S*10% 5,390
gy
35,2002 *800S * (365 *12A12+) /12,000A1 2+
10,279
-HIEZotED| 31,9003 x800S*10% 2,552
- LEDSII#
300,000 *1,400S (3652 *12A12+) /50, 000Al
2t 36,792
s 20| 40,1002 #5, 7005 *15% 34,286
- 2os JIF 30,0002 %5, 7005 *3% 5,130
CE2E dd 2,000& *5, 700 *5M*5% 2,850
=228 15,00024+5, 7005 +5% 4,275
401 AlZHIZ 2018 222,573 303,573 81,000
01 AlZH| 222,573 303,573 /81,000
O 2otsS =cIEA 134,373
2ots 2l 58,4233 %2,3000H 2~ 134,373
O=F2UALX S HotsS MESA} 73,200
2ots dE 732,00024 %1005 73,200
Ooigery A2t LEDEYE Wi (FIE 00
&) 12,000,000 12,000
OSS0HIE DISHAERE(KAEYH) &
He 2ots & L2t EXI(FRIF 00
3,000,000& 3,000
zs 2el 1,723,459 1,477,797 245,662
201 el 1,040,999 1,049,337 28,338
01 ALzl 480 1,056 A576
OZ2XY oRIEX 22|
8,000+~ 122 480
02 S3=gl 1,040,519 1,048,281 NT,762
OJlzs &z 814,094
JlEg 6,200 #4302 x5kix 128 %1.2 194,739
-AEBR(HE UES)
85.9% *(0.44kW+250S+0. 28KW+2, 300S )+ 12+365% 1.
14 323,403
- AHZZ (LED)
85.9&%0. 15ki+4,600S* 12A1 2tx3652 *1. 14 295,952
OJes RENN SHE 56,502
CRHHN SME 56,502
1= 5,000 *430CH*x12& *1.2 30,960
-AME= 30 #430CH* 123 #1504 1.1 25,542
Oortg & FA L2+ 78,923




2A:

I OHMSH TAIDIBIAIE =4
Celr JIEAIZE=E 22l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
LD B2xY S0|7 24
250,000 +8,5005 (3652 *5A12¢/50,000A12)
77,563
ZHE 2 WPS A
5,000, 0002 «24IH* 1% 1,200
S & 16,000,000 * 1% 160
Oonzs A== 70,000
DI BAL SHEAIE FA
40,000,000& 40,000
2 == Ot2S E4
2,000,000 * 1504 2~ 30,000
OIIZ2S ZHAAE S22 EEH
21,000,000 21,000
206 M=l 216,460 216,460
01 MZH| 216,460 216,460
Otz2s E=+XItH 216,460
-LHEE™D
11,1002 *4,056S * (12A1 243652 ) /16,0004 2
12,325
-HEYZ(DEE)
64,0002 *1,0005*(12A1 2436520 ) /12,000A1 2+
23,360
- LEDS 17 (SWPSE &)
800,000 *1,900S*(12A12+%3652! ) /50, 000A
2t 133,152
LIESEZ otdD]
19,8302 %4,0565*10f% 8,044
HEEz tyI(DEE)
47,0002 *4485+10% 2,106
l2E J17 71,5002 %(4, 849+448) S*3% 11,363
=P 407,000& *4102H *10% 16,687
CEE dd 55031 %183, 000m5% 5,033
- Dl HH 11,000& +5,800=*5% 3,190
B2 40,000,000 *3% 1,200
401 Al HIZL 01| 466,000 212,000 254,000
01 Al&H| 466,000 212,000 254,000
OJt28 =872 H+SAt 200,000
RS 1= R= b |
1,200,000& x140& 2t 168,000
XD EX 40,0002 500K 20,000
28 EA L MEX
120,000& *1009H 2 12,000
OL-SHFE M L B4
12,000,000 12,000
OA=Z 23 22 F ZHISA
1,000,000& +50S 50,000




SN OISR
I OHMSH TAIDIBIAIE =4
Celr JIEAIZE=E 22l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OL= FRP IIZS WM SAt
100,000,000 100,000
OE2XGAIE dalstAr
100,000,000 100,000
O=|HE(UFS 3BB-10) 212 A2 &Y
S EXI(F2H004) 4,000,000 4,000
TEA HII14H| 2tel 393,658 370,658 23,000
201 er23 | 393,658 370,658 23,000
2 35234l 393,658 370,658 23,000
O7EAN S3a= 310,982
TEMN &= 247,520
= 8,320 »850k* 128 % 1.1 93,351
-AME= 1092107, 15 TKh* 12+ 1.1 154,169
S H2g2 - SIBIANRA HIg 34,126
-JZ2=2 6, 1602 * 164k 12E %11 13,336
-AEE 1053 %15,000kh* 128 % 1.1 20,790
CHIzgE 2 M= 11,976
-z 6, 1603 *45kix 12 % 1.1 3,660
-ANE= 1053 *6, 000kith*12& %11 8,316
CPEAF L QB MIIOHEBRIE 24
= 1,345,3443 « 128 16,145
CPEA @M BN 242
1,215,0002 A 13] 1,215
OFEAL &IIEH B2 80,000
C23lE == £ES udl
230,000&*1005 23,000
- KEH=20H 8 750,000« 143 3,000
- = A2l 18,000,000& +133] 54,000
OFEA HlaZE)| FX 2,676
CANgEE R A2 2 SAA WA
270,000 *4 JH*20H 2 2,160
SENEEY
1,433 60| E1+0.5A1 2H= 123 516
EEXHAIE A 150,000 150,000 0
401 Al HIZL 01| 150,000 150,000
01 Al&H| 150,000 150,000
OE2XFAIE HEAY 150,000
-LED SI17 WA 750,000 *2007K 150,000
A2 ZEAIE HHI 150,000 150,000 0
401 AlZHIZ SO 150,000 150,000
01 A28l 150,000 150,000
Oarl ZEAIE EH 150,000,000& 150,000
=BT E 22l 1,319,955 1,663,979 A344,024
Alt] 163,500




SN OISR
I OHMSH TAIDIBIAIE =4
R B2 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 1,166,455
=8y 248 1,319,956 1,663,979 N344,024
AlHI 153,500
-l 1,166,455
101 21AH| 34,199 43,773 N9,574
M ORNZZ2NSE s 34,199 43,773 A9,574
OJIZH22IHE L) HE 34,199
QIAHI(FEXEE)
88,2723 x2H+28 26 29,660
-mUASEE=s 29,660,0002 *4. 5% 1,335
-RUALTEEHE 29,660,000 *3.545% 1,052
- AIIRALEE 1,052,0002%12.81% 135
- NESER 29,660,000 *1.75% 520
MHEES 29,660, 0003 * 1% 297
SAZE 300,000 x2&H 600
SE S| 300,000 x2&H 600
201 2= 732,756 744,206 A11,450
Alt] 163,500
Tl 579,256
01 At2t2ltl 46,780 62,980 /16,200
Oti+=82d 224 1=
50,0002 %102 1,500
Oli+BEZ R FTNe
30,0003 +62 180
OMI+BEIRLNY ADE
100,000 *42] 400
O8Oz =4I| A22(3U2)
100,000& * 123 1,200
O8Iy Rl 43,500
ga =g Ns 60,0003 »725& 43,500
Altl 43,500
02 S3=gHl 685,976 681,226 4,750
O&81-2, otctii+=B2H wWx, 2t €
Al 3,534
HI|erM 2e| A E 3l
100,000& 2 200
dojerd e @ sl
70,0002 +3% 210
FEsd22A 3|
36,0002 x2&H 72
otaate] HE & MRS
400,000 ~5H 2,000
=82 MJ|2H SAe=8
1,0502 910k« 1. 1 1,052
O8I AIZZHl =X 192,497




2A: ord
HH: okF

= B

SA - BB -GS - MRAY - BES ofl b0 A
- ZrEET R BHSE T (180H)
13,000,000 % 18CH*10% 23,400
CMEEITA DOH L AlXRI(18CH)
8,000,000& *18CH*10% 14,400
- EEEIE 24X D[ (120H)
10,000,000 *12CH*10% 12,000
CAEEHO A AXEI(00HP) R E
1,999&/%2 000 £ 3,998
- D2IPE I A Y41 I (320HP, 50H)
13,000,000 *5CH*30% 19,500
ZrelpE T A NFDE L AIXI(5CH)
6,000, 000 *5CH*30% 9,000
- AEPE A Y| AN D] (1,069KW, 2CH)
7,373 %1, 069kW 7,882
TYHIY GINLR)| BE
1,999 2,000 £ 3,998
- OFEHE 2 HH4=H I (355HP,5CH)
13,000, 000& *5CH*25% 16,250
- OFEHMEIZ NOIIE 2 AIRI(50)
6,000, 000& *5CH*x25% 7,500
- OFCHE A HIAMZEEM D[ (1,569kW, 1CH)
7,373 *1,569kW 11,569
- OFH2E 2 HH4=H I (500HP, 4CH)
13,000, 000 *4CH*25% 13,000
BAEDE HEex 89
300,000 50 15,000
CHAEER ABAEE S SNES
25,000,000& 25,000
-HIEQQEMZUAIE AIEEH |KAE%E
10,000,000 10,000
OtilEEa 2222 370,655
AEiEHTY MI|E 190,405
-HESols S0 97,735
== 8,320 %1, Q00kWx5& %1 . 1 86,944
AES 1092 18, 000kWh+5& *1 . 1 10,791
-&AI2olE EDE 92,670
22 8,320 *300KW*12& %1 .1 42,832
ANEZ 1092 x34, 638kWh* 122 *1 . 1 49,838
T2oHOT MI|2 29,640
-HELdls ED 19,444
2= 8, 320 +400KW5& %1 . 1 18,304
ANSE 1092 %1, 900kWh+5& *1 . 1 1,140
e UNE=Ye =N kel 10,196
llgs 5,550 «68kW* 122 %1 . 1 4,982
ANES 792 x5, 000kWh* 128 %1 . 1 5,214
SIEHEITA MD|= 38,432




2A:

M OIEEH CADIBAIE A
Rl Hi=BE 22 EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
-HEROE S0 18,387
2= 8,320 *390KWx5E 1. 1 17,847
AEE 1093 *900kWh+5Z 1. 1 540
-&AIRotE MY 15,410
== 5,550 «68KW* 122 *1. 1 4,982
ANEE 7921%10, 000KWh* 123 %11 10,428
KISt dMII1g 4,635
== 5,550 +OKW* 128 20 2-+1 .1 880
ANEZ
793 *1,800kWh= 128 x2J A 1.1 3,755
ot MIIe= 108,625
-2
(8,320 300KN<7 248, 32021 %3, 000KIHE0H+52 )
*1 102,869
A
-ANEZ 1092 *4, 000k 122 +1.1 5,756
-ofEt HEEIZ MIIR3 421
=2 6, 1603 +5kWx 123 %11 407
-ANEZ 1053 * 10KW« 122 %11 14
=B H & - ol
66,0002 <3 2 +6E 1,188
=B SaE
40,0003 *3H A+ 123 %1 .1 1,584
=8l SFNEREs
60,0002 *3H 2:+23] 360
OZY ti+=HZZ |FXSAE SX22l]
(MI12) 9,290
29 29 730,000& 113 8,030
M &==(2133]) 420,000 *3=] 1,260
Oe*=8oy sl 110,000
eHIOALH |2t
50,000,000& 50,000
AlHI 50,000
s S 323 HF
5,000,000« 122 60,000
AlHI 60,000
206 =4I 9,000 9,000
01 =4l 9,000 9,000
Otfi=8od 28=3 9,000,000 9,000
401 AIEHIZL SR OHYI 544,000 867,000 323,000
01 AlZHI 544,000 867,000 A323,000
Otfi=8d Itg &J14H| 288
22,000,000& 22,000
Odteoii=8 = M &8 Eh
450,000,000 450,000




FA HESE
o

M OIEEH CADIBAIE A
Rl Hi=BE 22 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O BIL-EIE SR &
72,000,000& 72,000
CAlZE] 733,208 830,257 A97,049
SE2NdH 29 733,208 830,257 A97,049
CCTv SE2MHE 2 646,208 710,257 A64,049
101 e124d| 189,186 188,073 1,113
H2ENSES 189,186 188,073 1,113
OSS2NHE 2K 189, 186
=S (FEREE)
88,2723 9T 282U +6E 133,468
OF2ta-gt
10, 7653 x0Z 64 Al ZHGE x50% 18,602
] 88,2722 x0H x 102 +150% 1,917
- SXEE 300,000 %9 «13] 2,700
-HEY0E 300,000 «0H *13] 2,700
EREEEEEEE
163,987,000 4. 5% 7,380
R EET=E
163,987,000 +3.545% 5,814
- IEEERES 163,987,000& *1.75% 2,870
MHEERES 163,987,000 * 1% 1,640
LI RYEERES
5,814,000& *12.81% 745
S22 28H| 50,0002 x0H «33] 1,350
201 Ler23| 283,964 312,973 229,009
01 At2teltl 21,006 21,359 A353
O=g=s 7 350,000& 12 4,200
O8Il AEZ 47,5002 x2CH* 122 1,140
OHtoled A BHAI(S/M) 15,666
‘el=AE 600,000& *254] 15,000
-PCE 37,0003 » 184 666
02 S3=gl 262,958 291,614 28,656
OCClV s32= 59,552
-CCTIV &JIes 9,000& *5000H =% 123 54,000
IR 2ldes 374,000& 122 4,488
-HHEEIIRS 4503 x197= 122 1,064
OCCTV SEZMAIAE SXl2teld] 203,406
gdHE =4
17,000,000 8%+1. 1 1,496
LHE OV RAE=
1,187,588,500& #3%+1. 1 39,191
2EE CCTV E&4H| 4|
5,000,000 64 30,000
- SEZMAIAE(HW) S22l
1,536, 162,860 *6%+1. 1 101,387




SN SNSRI

S HEE TAl2te
CHel: (CTV SEZHHE 2 (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- SEZMAIAE(S/W) [XI2tel]
237,359,000& *12%+1.1 31,332
203 2=l 810 1,080 A270
03 A=A PR FA| 810 1,080 A270
OSS2NHE FRF=EH|
900, 000 *90% 810
401 A2 HIZL 201 47,168 32,240 14,928
01 Al&HI 47,168 32,240 14,928
OYHE CCIV XIHE S ZHIAIY 47,168
OlEHS Z&EHE TV &+ ZHISA
268,0003 +82H 21,976
gels LEs 0V 71X ZUISA
268,000 94 H 25,192
405 KHaHE SH 125,080 175,891 50,811
01 AL =S F=H 125,080 175,891 /50,811
OCCTV SEZMAIARE ZHI22 125,080
- BAMEER(AELXCIAT) 04
2,000,000 *10CH 20,000
SAMNEZHHERE 04
6,500,000& 2% 13,000
-HARAE2ACERE 204
43,780,000& x14] 43,780
- LEE TV 2 &g St WAl
2,300,000 *21CH 48,300
AOEAEl SSE2HS 2EAY 87,000 0 87,000
405 AtatsE = 87,000 0 87,000
01 ML ESFSHI 87,000 0 87,000
OADIEAIE| SEEHS A=A
87,000,000 87,000
BH2IJH(ESZL) 180,717 162,397 1,680
=3t 90,3% 92,076 1,680
Jl=23H| 90,3% 92,076 /1,680
201 er23y| 24,306 24,306 0
01 AtR2t2|HI 24,306 24,306 0
ORMEg=S4l 11,916,0002 11,916
OJl=gf=d S| 11,750,000& 11,750
OR&sd 29 640,000 640
202 04l 58,800 60,480 1,680
01 =LHA LI 58,800 60,480 1,680
OJ|2g R0l
280,000 x35 6= 58,800
203 =8| 7,290 7,290
01 J122geR=a| 2,700 2,700
OJ|22g8gf=at| 3,000,000 *90% 2,700
M EASHLRFAH 4,590 4,590 0




SN oEER
T BHSAAH|(HHSEY)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
|| O=M=ga=zay| 5,100, 00024 +90% 4,59
ol 2| 60,321 60,321 0
oIzt 2ot 60,321 60,321 0
101 Q14| 60,321 60,321 0
VRIEETEES 60,321 60,321 0
OJITAIES B2l LerellIN (83 4E) 60,321
Dlzets 39,859, 0002 39,859
SAEIEERENE
9,90281«40AI 2t 122 4,797
NS EH| 165, 0002« 122 1,980
o3| 140,000+ 122 1,680
L HESE 50,0002+ 122 600
- QLA
3,321,583 +84%-86%+1/30+ 102 800
ObELg 120,002 122 1,440
ShADey 3,321,583 84 122 1,675
ngws 51,029, 07481%1.75% a4
J1013 51,020, 0742 % 4,59
AL 51,029, 07481%3.495% 1,784
2|29 =8 1,784, 0008 12.27% 219
WPEs (EEZ ) 708,453 653,494 54,959
IEERE 708,453 653,494 54,959
Heoi2es 708,453 653,494 54,959
REEEE] 708,453 653,494 54,959
0171283 708,453 653,494 54,959
OII38E3 708.453,0002! 708,453




